REGR (ZaEk (EEHIKR) )

| THETAT 4 | LXEH |
| #EERZ | 19:35 |
EA
EE) 5 = B
BELAFEEHR 11,115 X 12,394 X 23509 A
REER 5,228 A 5973 A 11,201 X
MR LEREEH 3,373 A 3,636 A 7,009 A
HBEAREEH 1,782 A 2,228 A 4,010 A
FHEEREER 73 A 109 A 182 A
ZIEER 5,887 A 6,421 A 12,308 A
RER 47.04 % 48.19 9% 47.65 %
£
EE) 5 = B
BELEHEEHR 13 A 11 A 24 A
REER 0 A 0 A 0 A
AR LEREEH 0 A 0 A 0 A
HBERREEH 0 A 0 A 0 A
THEEREEHN 0 A 0 A 0 A
ENNEREEHN 0 A 0 A 0 A
EEEREEHN 0 A 0 A 0 A
ZIEER 13 A 11 A 24 A
RER 0.00 % 0.00 % 0.00 %
B+ &5
E) E & 5
BELOHEEHR 11,128 X 12,405 X 23 533 A
REERK 5 228 A 5973 A 11,201 X
ZIEEHN 5,900 A 6,432 A 12,332 A
RER 46.98 % 48.15 % 47.60 %




